compulsorily draw diagonal cross lines on the remaining blank pages.

On completing your answers,
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

1

Important Note :

50, will be treated as malpractice.
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Third Semester B.E. Degree Examm@ﬁ June/July 2019
Engineering Mather r,tlcs -1

-

Max. Marks: 80

Note: Answer any FI Wa;{ questions, choosmgﬁ@g »
ONE full q@snﬁi from each module (

M
Obtain the Fourier series for thggu%@tlon

f(x)z{"7T m —-n<x<0 %M%

Hence deduce that e % o M (08 Marks)

@?

s

ﬁ(’Zf\—l)z 8

: AR L3
y 1.98 —0.88 | —0.25 | 1.98 |
(08 Marks)
Obtain the Fourier series for the function f(x) = 2 (08 Marks)

€hts in the only(Jeufier cosine series for

d the first two coeffi
given data : ‘

m5 ;
2|
(08 Marks)
(06 Marks)
: Fmd the Fourler sine tr%sggrm of (05 Marks)
" ﬂ’tb s Jﬁ? x
Sbiain the 2 - transfor VT sin 8B abd cds (05 Marks)
Find the i inye Se cosine transfor
Gy
Hence evaluate (06 Marks)
: 7.
i & 3z°+2z
Find inverse Z ’ggg}nsform of (05 Marks)

(5z-1)(5z+2)

Solve the %dlfference equation y,5+6yn41+9y1=2"with yo=0,y; =0, using

=X tran%@rms (05 Marks)
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Module-3 re '
Find the lines of regression and the coefficient of correlationfog the data
x [1]2[3]4] N7
y |98 [10]12 %f%%lf 14

(06 Marks)
Fit a second degree polynomial to the data : (N
x[ 0 [ 1 k% 3 [ 4
v 11 Sl 43 [25]6.3
4 ¢ (05 Marks)
Find the real root of the equation x sin osx =0 near x =, by usf%g Newton — Raphson
method upto four decimal places. | (05 Marks)

OR /
In a partially destroyed labor record, only the lines (%ﬁegression of y on X ¢ and X ony

are available as 4x — Sy y 0 and 20x — 9y = %@7 fespectively. Calculate X,y and the
coefficient of correlatig ween X and y. (06 Marks)

Fit a curve of the typéfa % ae’ to the data :
X} 3 15 0 35 | 40
y | 10 | 14 [N 50 | 62
A, & (05 Marks)
Solve co y 3x — 1 by using Regulg Isi method correct upto three decimal places,
(Carry »%gvo approximations). (05 Marks)

50) 1(80) = 276, f90) = 304. Find f(38)

%%p (06 Marks)
X S5 ¢
s B 12427 |
By using Lagm’é?%s interpolating %ﬁff? (05 Marks)

v

Use Slmpso%s 3th rule to evaluat

(05 Marks)
¢

he area of a circle f‘,LA)Q@?c%%responding tal er (D) is given below :
o,

485 90 95 100
% 5674 | 6362 | 7088 | 7854

Find the afea ( diameter 105, using an appropriate interpolation formula.

(06 Marks)

Given the values

5 7 11 13 17
150 | 392 | 1452 | 2366 | 5202
4
Evaluate f(9) using Newton’s divided difference formula. (05 Marks)
1 ¢4
Evaluate j < dx by Weddle’s rule taking seven ordinates. (05 Marks)

01«;}')(
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Module-5

Using Green’s theorem, evaluate I(2x2—y2)dx+(x2+ Where C is the triangle
d f :

formed by the linesx=0,y=0and x+y=1. @%ﬁ (06 Marks)

_)
Verify Stoke’s theorem for f =(2x-y)i—

x2+y2+22=1.

j&«ﬁ zk for the upper half of the sphere

(05 Marks)

(05 Marks)

Using Gauss divergence tHeorem, evaluate J.f nds wheref 4xzi—y _]+ka and s is

(05 Marks)
4 (06 Marks)

-

F=y +4ycosx}dx give that y = 0 = y(n/2)

(0S5 Marks)




